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GEOGRAPHY

( Honours Core)
Paper : GGY-HC-3026

( Geography of India with Special
Reference to N. E. India)

Full Marks : 60
Time : Three hours

The figures in the margin indicate
Jull marks for the questions.

1. Answer the following: : 1x7=7

(@) Which state of India has the highest
number of cotton textile industry ?

(b) What is the full form of S.A.I.L.?

(c) What is the eastern-most point of
India ?

(d) Name the newly declared National Park
of Assam.

Contd.



(e) Mention one mountain pass of the 4. Anqur the following questions : (any three)
Himalayas. : 10x3=30
() Which type of forest is found in (a) Exp.la_in .the locational significance of
Sundarban delta? _ _ India with r.e)_?erence to present-day
() Which language is common in global.geopohtlcal context.
Nagaland ? (b) Eiscgilssf about the distribution and
y A , 4 €nd of production of i eel
uestions in very short : , a2 : of iron and st
2. Answer the following q Ly Eap mc.tlus.try' in India. Briefly examine how
& ‘ this industry is contributing to- the
(a) Name two Iron and Steel Industry of country’s economic growth. 6+4=10
India. (c) Describe the different physiographic
(bp) Name four states of India through divisions of India along with their
: which tropic of cancer passes. salient features.
() Name two Ramsar sites of North-East (d) What are the agro-climatic regions of
India. India ? Explain briefly the cropping
(d) Name two major tribes of Arunachal pattern in each agro-climatic region.
Pradesh. 2+8=10
3. Write short notes: (any three) 5x3=15 (e) How density of population is determined
% : . by the physiographic condition of
(@) Distribution of fertilizer industry in North-East India ? — Explain.
India :
% o (i Mention the major ethnic groups of
(b) Mechanism of Indian Monsoon ; North-East India and briefly discuss
(c) Soil types of North-East India their salient socio-cultural practices.
(d) Shifting and terrace cultivation in _
North-East India ) :
(e) Natural vegetation of India
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